20130 0

OddoodnoA
No.8 U [

20130 60 3000

DDD CiDoOooOo SccCcuoUoooooUoooo0,00o0o0oUoooa.

€

(1) S= i)
Zs3
ial

(2) S= i)
Zs3
€

(3) S= i)

X3

€ C*; 2|zy| — 3|wy| —23 =10

21’1 + 51’2 + 3%’3 = O,

c 3 3x1 + Txy + 4x3 =0,
" 5xy 4 39 — 223 = 0,

71‘1 +4I2 —31‘3 =0

(2] @1, @2, x5, 24, x; € C°OOO0O000DODO0.

cC:a?=ai=a23) (4) S= 2| € C¥; 22 =25 =2,
T3 i =25 = —x)
1 1 0 1 3
—1 1 1 —1 —1
0 |,x=|0|,z3=|—-1],x4=1] 0 |, &z5=1] O
-1 2 1 1 1
0 1 2 —2 0

000, W, = (xy, T, x3), Wo = (x4, 25) CCO°UOD00 o, 0 &, 0 @3, 2,0 x5 0
00000 c’000poooooooon.

(1) W,nW,000000000.

(2) (1)00000WNW,0000000000000000000000, Wi+W,
ogooooooon.

(3lvDODcCcoooooooooooood,w, W, WscVOODOODODOOO0000.
(1) WinW,={0}000000. 0000, (Wy+Wy)NWs = (WiNW3)+ (WanNWs)
000000000, dim((W, + Wy) N W) = dim(W, N Ws) + dim(We N W3) 0 0O
00000000000000oOooag.

(2) WinWy,={0}, WynW; ={0}000000. 0000, Wy +(Woen W) =
Wi+Wo)n(W+We) 000000000, w,n(W,+W,)={0}y000000
0o00o0o00o00O00ooo.



